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QUESTION 1
In one of your databases, table HR.EMPLOYEES includes the columns FIRST_NAME and EMPLOYEE_ID.
A row exists with EMPLOYEE_ID 201.

Examine these packages created by user HR:

CREATE PACKAGE helper AUTHID DEFINER ACCESSIBLE BY (api) IS
PROCEDURE hl;
END;
/

CREATE PACKAGE BODY helper IS
PROCEDURE hl IS
emp_name employees.first_name%TYPE;
BEGIN
SELECT first name INTO emp name FROM hr.employees WHERE employee id=201;
DBMS_OUTPUT.PUT_LINE(emp_name);
END;
END;
/

CREATE PACKAGE api AUTHID CURRENT_USER IS
PROCEDURE p1l;

END;

/

CREATE PACKAGE BODY api 1S
PROCEDURE p1 IS
BEGIN
helper.hi;
END;
END;
/

EXECUTE privilege is granted to user SH, on the HR.API and HR.HELPER packages.
Which two will execute successfully? (Choose two.)

A. Call HR.HELPER.H1 from the HR schema.

B. Call HR.HELPER.H1 from the SH schema.

C. Call HR.API.P1 from the HR schema.

D. Call HR.API.P1 from the SH schema.

E. Create and call a package procedure API.H1 in the SH schema, which calls HR.HELPER.H1.
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Correct Answer: BD

QUESTION 2

Examine this DECLARE section:

1 DECLARE

2 v _join date DATE := SYSDATE - 10;

3 v_flag BCOLEAN NCT NULL DEFAULT TRUE;

4 v_char VARCHAR2 := NULL;

5 v _bonus pct CONSTANT REAL(2) := £.25;

© v_zip code VARCHAR2 (80) := SUBSTR('Oracle Corporation', 24, 0)

e

Which line will cause an error upon execution?
A.line 5
B. line 3
C.line 2
D.line 4
E. line 6

Correct Answer: E

QUESTION 3

Which two are valid MODIFIER values for the PLSQL_WARNINGS parameter? (Choose two.)
A. DISABLE

B. ENABLE

C. ERROR

D. ALL

E. SEVERE

Correct Answer: DE

QUESTION 4

For which three SYSTEM EVENTS can triggers be created? (Choose three.)
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A. DDL

B. AFTER AUDIT

C. BEFORE ANALYZE
D. SHUTDOWN

E. SERVERERROR

F. STARTUP

G. BEFORE GRANT

Correct Answer: DEF

QUESTION 5

Which code will successfully create a BODILESS PACKAGE to standardize CONSTANTS and EXCEPTIONS
declarations?
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CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax CONSTANT NUMBER(3):=3;

e_seq EXCEPTION;

PRAGMA EXCEPTION_INIT( -2277,e_seq);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT( -2292,e_fk);

End;

CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax CONSTANT NUMBER(3);

e_seq Exception;

PRAGMA EXCEPTION_INIT(e_seq,-2277);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT(e_fk, -2292);

End;

CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax CONSTANT NUMBER(3):=3;

e_seq Exception;

PRAGMA EXCEPTION_INIT(e_seq,-2277);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT(e_fk, -2292);

End;

CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax NUMBER(3) CONSTANT:=3;

e_seq Exception;

PRAGMA EXCEPTION_INIT(e_seq,-2277);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT{e_fk, -2292);

End;
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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